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Q1  Why effective porosity is more important than absolute porosity to a reservoir engineering? 
Define the term “Permeability” of a reservoir rock. 

[5] 

    
    
Q2  Starting from Kozeny-Carman equation derive an expression from volumetric flowrate q, 

Through the porous medium for the following cases (i) Linear flow (ii) Radial flow. 
[5] 

    
    
Q3  

 

[5] 

    
    
Q4  Discuss in brief the different type of forces which contribute to the expulsion of oil from 

reservoirs. 
[5] 

    
    
Q5  What is retrograde condensation? With a net Pressure- Temperature diagram show the 

region of retrograde condensation. Define to the following terms: (i) Critical Point. (ii) 
Cricondenbar. (iii) Cricondentherm. 

[5] 

    
    
Q6  Following information on a close gas reservoir is available reservoir temp 175oF, original 

reservoir pressure 3000psia. Sp. Gravity of gas 0.6 after producing 4X108scf of gas reservoir 
pressure is 2000psia. 
Determine (i) Amount of gas originally in placed(G). (ii) Amount of gas which will have 
been produce after the pressure has been reduce to 1000 psia. (iii) Cumulative gas 
recovery if abundant pressure 300psia. (iv) Recovery efficiency. 

Given: Z3000=0.88, Z1000=0.92, Z2000=0.89, Z 300=0.97 

[5] 
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Starting from the equation  

𝑞 =
2𝜋𝐾ℎ∆𝑃

𝜇𝑙𝑛
𝑟𝑒
𝑟𝑤

 

show that the field relative permeability is given by  
𝐾𝑔

𝐾𝑜
=(R-Rs)

𝜇𝑔𝐵𝑔

𝜇𝑜𝐵𝑜
 

Where the term has usual significance. 


